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ENGLISH

Don't avoid (talk) your parents

regularly. Fill in the blank with correct
verb form of the following.

1) talking 2) to talk

3) that you should talk to

4) to be talking

You must treat this problem

patiently. Fill the blank with correct
PREPOSITION
1) with
3) on

He gripped his brother'sarm __ he be
trampled by the mob. Fill the blank with
the proper connective/conjuction.

1) Otherwise 2) lest

3) if not 4) in case

2) of
4) no preposition

God! We have a let-out now. Find out the
parts of speech of the underlined word?
1) Adjective 2) Adverb
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3) Noun 4) Preposition

How are sea fowls described collectively?
1) A group 2) A sguabble
3) A flock 4) A cloud

'He didn't confess his guilt in the recent

mishap'. The complex form of the above

sentenceis

1) Being guilty in the mishap, he didn't
confess it

2) He is qguilty in the mishap but he didn't
confess it

3) He didn't confess that he was guilty in the
mishap

4) He didn't confess though he is guilty

‘My son came by a medal in the event'.
The passive form of the sentenceis
1) A medal is come by my son in the event.
2) A medal was come by son in the event.

3) A medal was come by my son in the event.
4) Inthe event, amedal was come by my son.

Which of the following often subscribes
'lettersto friends ?

1) Yourssincerely  2) Yours faithfully

3) yours truly 4) Yours friendly
Thereis ‘L' board at the back of the
vehicle?

1a 2) an 3) the 4) no article

Being not worldly wise, he wasted his
money in quixotic projects. What does the
underlined phrase means?

1) enterprising 2) foolishly ideal

3) redlistic 4) Unyeilding
SentDd
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